9 YRl THAeTeRHT HiRdeaniEamE 3ag T2. ..

Do not open this booklet until asked to do so...

RATIONALIST TALENT SEARCH EXAM 2018
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gdigneffardt g=A / Guidelines for the Candidate

1. T Yftaehdict Te U9 SO AT et Fase Wt e s,
Please make sure that all questions are printed properly in Question booklet or
not.

2. U AT & TRE SHATERTE ek UTHieh! (He oAl W hisd ST,

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

3. ufken g& guangdi fageneatn wrrean dyut el WEht wvarEdt 30 fafRe iften as qvam
RER

You will get additional 30 minutes to check and make sure about the information about
yourself on the Answer Sheet before the start of the exam.

4. HE IIGRETRALE TRUT 100 T ST Tedkeh TYHTS! 2 T[0T 3Tz
This question booklet contains 100 questions each question carries 2 marks.

5. ©d U9 AUl STavaeh 3TE. YeheAl ScIagge! MaTeedl TN $Haeare! Sehi T[0T Tl het
HTUTR AT,
All questions are compulsory. There is no negative marking.

6. SIUCHATY SHIH! TR [HeaTeaTH W T Tl

Check to make sure that you have received the appropriate test booklet for your standard.
7. UATAMEA heles Uehdl Seck siek 3T, SIeR SccliETd! Uehel
There is only one correct answer. Choose onIy one option for an answer.

8. IcalTal U WIUATHTS! Sheles hiest / fHest T SieTa-<r anawrEt.
To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black
Ball, Pen only.

Eg.

Q. x : - Fill in the blanks.

My father went.........cccorvecrrceneennes To buy some milk.

a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding To option a) in the Answer

Sheet as follows.
CORRECT METHOD WRONG METHOD

| @OOO®| [x @GO @]
9. UM HUCHTER gl ScUTIohT THASTERIEhS UXd STl

Return the Answer Sheet to the invigilator at the end of the exam.

10. STTUET URET ShHTh TITYREThar GEaT ToTeTal a Het TYgieeht URET ShicTaeiFaR e diad
11

Write your Roll No. on the Question Paper too and take it home for future reference.

Visit www.rtsexam.com for answer key after 8 days




JYRETAT / ALPHABETICAL ORDER

ABCDE FGHIJ KLMNO PQRST UVWXY Z

T AT € T, R 9, ¢ T AT £ I AER U U UYUi I1eg qIR e, &I veqra
Wi FIaeel 18R UM ?

In the given alphabetical order the 6™, 9", 8" and 19" letters make a meaningful word. Which is
the last letter of that word?
A)S B) I C) H D) F

| / NUMBER

19,28,71,103,76,91,43,88,222,301,69,8,296,11

T8t T HIfeTehA TRU fenel form Te T oA ?

How many odd numbers are there in given series?

A)8 B) 6 C) 10 D)9

WA T STt TR ST holt f8et o Uit Ser sieheaie Faet.
Select the correct mirror image of the given question figure.
g 3kl / Question Figure:

[« | [}
(] | )
e] | () (11 [e] (o] | [@ o] | L&)
oS (o] | e olle oHe
A) L B) C) D)

IS TBTgUh! Heig U1 e - Wesdrd, 3193 ST faget wiret Wesdd, T ST 319
FHAZE WeHaTd, Y ST T SATSITUTE WebaTd T hivTal WeaTg, Uehd T Wesdl ?
A) foge B) Hw T C) Fefm D) 31

In players of a school Sanjay and Nitin play kho-kho, Abhay and Vipul plays langadi, Sanjay and
Abhay plays kabbadi, Vipul and Sanjay play atya-patya, Then which player plays only one game?
A) Vipul B)Sanjay C) Nitin D) Abhay

TyTeieR fargrean wIRft vt EEm 95 o e

Find the missing numbers.

8| 3
4 6
12 18
219
A) 16 B) 20 C) 27 D) 24




10.

11.

Y SATHATAT HTEl HIT TG TR, Ik ATHCATHYT I AThAl I it 9 T Fgeran sFwn
JIHYVN T AR TWA A ot SAehelt YT 2135 ITehe.

Which of the following options will complete the pattern in figure?
a9 anqrcﬁ / Question figure :

y = )

Q)

TS ST <TehiTeR TRUT 6 fehelt ?

How may squares are there in the following figure?

A) 8 B) 28 C) 24 D) 30

Tt o TTTACIATIRIT HEATRTES! | AU TSATSTAT Gt ThIeIT fehell S5 ThIhiF BIgeA 7

From 7 O’clock in the morning to 7 O’ clock in the evening. How many times right-angle will be form
between two hands of a clock

A) 24 B) 22 C)21 D) 26
qyATIgTea JnTt vaiETdier ara g fHaen?
Which number will replace the question mark?
1|17 | 29
13 | 23 | 37
19 | 31 ?
A) 39 B) 41 C) 43 D) 49
Tehid Ug SHeEl.
Find the odd man out.
13, 16, 21, 26, 38
A) 13 B) 16 C)21 D) 38

TehT Hichideh Wd BALL & 4799, KNOW ? 3256 31Ut CAN g 872, 3t@ feafgara @ LOCK 71 9ise
e fefgen g e

In a code language, BALL is written as 4799, KNOW is written as 3256 and CAN is written as 872,
then how will you write LOCK in the same code?
A) 7585 B) 9583 C) 9853 D) 8953




12.

13.

14.

15.

16.

17.

18.

IR foreres o aresadt sr@er aX e i mieft STEdie STt AR 318 ?

A) Feram B) TR C) WiTe5aR D) FUER

If teacher’s day falls on Tuesday then on which day Gandhiji’s Birthday will be in same year?
A) Sunday B) Monday C) Tuesday D) Wednesday

el GEATHTA TR AR ggiardier 9 aeean feet.

In the following number series which number will replace the question mark?
9,7 21, 25,27,33,35
A) 13 B) 15 C) 17 D) 19

WA AT HIBSYEeh (18T T T a1 e FHaet.
ek BRI, e <IRETd o ek ST TRt SISt fehelt ?

Observe the following diagram carefully and select correct answer option.

What is the addition of the numbers which are in only triangle, only square and only rectangle?

7
8

al [ 9\

A) 13 B) 19 C) 29 D) 30

FHromaen Tt =ues ATe. AT 1T Saeh! Tues ATRY, U o Shidl At Tl ARG ATe, T T

AU hHITT ?
A) e B) <ot C) Wi D) <hial

Geeta is quicker than Veena. Meena is not that much quick as Geeta. Veena and Kanta are same in

quickness, then who is maximum quicker in all of them?
A) Geeta B) Veena C) Meena D) Kanta

Iy yatg A

Select the correct option.
234:432::365:7

A) 435 B) 543 C) 354 D) 534
TETd FHUTRT A I1se et

R, UE, SWE

A) g B) TUft C) gHehT, D) g

Select correct option which belongs to the group.
Stars, Planet, Satellite,
A) Air B) Water C) Comet D) Tree

WTeiled ST HifeTehd NERTRIT ST SHATH SHITTa! Tt A5 ?

In the following number series which number will replace the question mark?
5,14,41,122,3657?

A) 1192 B) 1094 C) 12098 D) 998




19.

20.

21.

22.

23.

24.

25.

26.

TR FATITAT TR TgEe, Ul cheh Fgeel, shehell WISl Tgeat, WIS Ui Tged, UisTell el Tged, T
TSI 1 ST ?
A) U3 B) &t C) UHR RIS

If ‘butter’ is called ‘cheese’, ‘Cheese’ is called ‘cake’, ‘cake’ is called ‘vegetable’, ‘vegetable’ is called
‘flour’ and flour is called “flower’, then what is made from wheat?

A) Flour B) Flower C) Cheese D) Vegetable
e uata fRae.
Find the odd one out.
14 R 27 E
A) N B) 18 Q) U D)

TS 3T AISITd AT TEAT IS AT oI Tl 3ichl &l = ?
Greatest eight digit number — Smallest Six digit number="?
A) 998990000 B) 90000000 C) 99899000 D) 99899999

WA STTShetd TSI WRT ShiUTAT STYUTIeh gIifaral ?

Select the correct fraction for the given shaded figure.

NN
NN

2 2
A) s B) 2 Q)

N

D)2
7

R YA Fhadl Jad @A 4000 T. 7R 3 T3] 2.91.2.91.5% ST A 3aeil @’ 3 Tuiedn
JEE TATAT URUT Tohelt TorhW U fHeset

Saurabh kept Rs.4000 in saving bank account for 3 years with 5% p.a find the amount he will get
after 3 years?
A) 4550 B) 6000 C) 4005 D) 4600

TRt fusTeta 7 fomi thed HTaTa. o) TeRUT 20 fuvreama feredt ol thed Arawedien ?

A) 70 Teret B) 27 feRemt C) 140 feremt D) 100 feret
One bag contains 7kg of fruits, 20 Bags will contain how many kg of fruits?

A) 70 kg B) 27 kg C) 140 kg D) 100 kg
‘24’ 2 v WuA e forgma it forfeett g 2

How is the number ‘24’ written in Roman numerals?

A) XXVI B) XIV C) XXIX D) XXIV

AIFTER AT 565 Teameaiaeht 45 faeneat=i v T ATHE0 § 3 W hedn, @ hdl foemmeft 3w ?

There are 565 students in a school, if teacher make 12 rows of 45 students each, then calculate how
many students remains excess?
A) 15 B) 25 C) 35 D) 40




27.

28.

29.

30.

31.

32.

33.

34.

(18 - 8 +2) [] (12 + 1 X 2), ferrn sIwft awa fergrent fae .
(18-8+2)[](12+1X2), Choose the appropriate sign from the alternatives in [].
A) < B) > Q)= D)~

WTIcTdh! ShIuTdT T 72 I1 EEa=A1 U agere U< Iviial ?

Which of the following sets contains all the factors of 72?
A){1,2,4,8,9,6,12,36,72} B) {1,2,3,4,6,8,9,12,18,24,48,72}
C) {1,2,3,4,6,8,9,12,18,24,36,72} D) {2,3,4,6,8,9,12,18,24,36,48,72}

‘5,431 I FEAATA 4 <N Tnfes fohAd 9 1345 A1 ST 4 =i Tefen fhma ardter wes fordt ?

Find the difference between the place values of the digit 4 in the number 5431 and 13457
A) 340 B) 360 C) 400 D) 440

19:40 2t 95 12 AT9N TSITBTA 9T I9Taet ATZA.

A) 7:40 1.9, B) 7:40 H. 4. C) 9:40 1.4, D) 9:40 qA.
19:40 hrs in 12 hour clock is
A) 7:40 am B) 7:40 pm C) 9:40 am D) 9:40 pm

STaTeRe 17.85 Wi e g, wamieht i fiem= aeeht 0354 9 9 gohe et @ fehrdt fiam Pteere et
A) 3.15 ®t B) 14.7 Wt C) 8.85 i D)17.5 @

Jaya had 17.85m ribbon; she cut 9 smaller pieces each of length 0.35m from it. How much of ribbon
were left?
A)3.15 m B) 14.7 m C) 8.85 m D)17.5 m

15 QT USRUT fSRTA £¥¢. o FUA R Ueht UAT=H ferwia fomett 2

A) 12.80 T3 B) 8.90 T €)10.90 &9 D) 9.90 ¥ud
If the cost of 15 pens is Rs.148.50 then the cost of one pen is?
A) Rs.12.80 B) Rs.8.90 C) Rs.10.90 D) Rs.9.90

gaﬁwﬁﬁfxmmaﬂawmlwa@m

1
How many times is s should be added to get 1?
A)7 B) 8 Q)9 D) 10

7 Q.. o F ¥ 9. F e AT TRt foRd 2

A) 28 Tt B) 11 &t C) 18 Tt D) 22 Wit
What is the perimeter of rectangle having length 7cm and breadth 4 cm.
A) 28 cm B) 11 cm C) 18 cm D) 22 cm




35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

2l )xv=mb=Ffrd?
5 10 5

4 4 18

(-+—)xb=—thenb="?

5 10 5

A1l B) 2 C)3 D)4

HBTGRITHIO! ShH CITCATH ShIUTAT I16G TN SHHIGHIAR A5¢1 ?

A) qgE B) femoft C) ST D) ®{R

I TRRHEICHE Suid UgTHuT ShedTe TR IMesd hIdshHIe YoTae SATell, Aol TeRTEd
VeaTETd! A vt e

A) 50 = B) 60 T4 C) 7594 D) 80 ard
WAt YTsaTieh! SIg9led e,

A) SRTTERTET B) SRTBUUT C) e D) SANTGBISRTEST
WA SR I AaT ST,

T ek HIE SR,

A) TR B) I&dieh C) v D) 312

‘G181 A1 VIeETa {AEgUNATT T6g hIUTAT ?

A) AN B) gt&t C)3& D) gei&t
WIAeTdeh! Fehiel TSt STIeET ?

A) TSR STTEA — USHTEH B) ferfean ameren 7 Jum —fFrew

C) YRIET AT FiTetedt — TR D) Il ATSAUTRT — HINEIH

W SerTa A STFSTERTen ST .
T STieHa YRUETERIT UR USTEn FRU ShiEheiHl

A) 2 eNgeH B) el hHueAt C) Treftert ket D) afie™ et
HRATSA HALH AWA TR fohdl 96% 2id ?

There was members in constitutional assembly of India.

A) 200 B) 300 C) 299 D) 199

AT AT Tl ShiUTd ITATIGEN FaflehRet 3T 2
A) TEET ANERIME  B) SEALHT SARIME  C) THAITE NEEMIE

Which one of the following governance system adopted by Indian Constitution?
A) Parliamentary Democracy B) Presidential Democracy
C) Dictatorial D) Monarchy

——
(o)}
| —



45,

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

fegumear .
A) U ARt B) Rtegr uftwe C) MU=

Which one of the following is at the District level body?
A) Panchayat Samiti B) Zilha Parishad C) Grampanchayat

Identify the correct option.
Paw : cat :: Hoof :
A) Sheep B) Horse C) Tiger

Read the sentence and find the tense from the alternatives.
He reads a book.
A) Present tense B) future tense C) Past tense
Choose the meaning

A wild goose chase:

A) To make quite vain

C) foolish and fruitless search D) oppressing
Identify the part of speech of the underlined words.

The boys were hungry since they had played a lot.

A) adverb B) conjunction C) preposition

Fill in the pronoun from the given alternatives.

| cannot solve this sum because is very hard.
A) she B) he Q)it

Find odd man out.

A) Isn’t B) hasn’t C) Cannot’

Find out the verb in the sentence given below.
The boy is crying for toys.

A) boy B) is C) toys
Identify the plural form of noun
A) Potatos B) Potatoes C) Potatus

WCHAdR! VT SFETd I eIRTaE feriurg ea ATgia ?
A) Toiq B) T C)zhre

Seeds are not used for reproduction in:

A) Lemons B) Potatoes C) Tomatoes
IVTR IR AR =1 Flglallﬁ 9AHA h{dld
A) TE= B) BWEH C) Sheet
Amphibians breathe through on the land.
A) Skin B) Lungs C) Gills

D) TR Ufwe

D) Nagar Parishad

D) Lion

D) None of these

B) a lament for speaking

D) verb

D) him

D) Don’t

D) crying

D) Potataus

D) Sart

D) Jowar

D) die

D) Mouth




56.

57.

58.

59.

60.

61.

62.

WA TUeh! ShIUTeIT TR THR AT 2id AT ?

A) TEt B) HATM C) vfiaeer D) &=
Which disease is not an air bone disease?
A) Common cold B) Malaria C) Influenza D) Tuberculosis

ot iy Fecea TS Ao JEHieul e Ugiel feaaTd. Ugiel safdiNer Tt qeTdred

__ Theaam.
A) TR B) AU C) TA. W50 D) ATd<h! T
Petrol is refined from the crude oil obtained from oil wells, besides petrol crude oil can also give
A) Kerosene B) Wax C)L.P.G D) All of these
wAtEeeh, U2, Td, o digd yene Ao e LI AS G
A) TGS B) @AWt det C) ShresE D) His
is also used in the industries which manufacture plastics, paints, fertilizers and
cosmetics.
A) Lime stone B) Petroleum C) Coal D) Salt

U TS WITAUhT ShIUTET ThTa TieT 3TEa! ?
A) foemiden @ien B) StEehen wien C) TehdT Tien D) ATd<h! T

Which one of the following type of joint is present in our knee?
A) Hinge joint B) Pivot joint C) Gliding joint D) All of these

T YT TATAEA T AN, degl AT T AT TeAT TTAT S hUTA TA hid Shld 37 ?
A) TEeE o B) TSUT /A C) Atk T D) Tgfetd et

Which of the following forces acts between your foot and the road when you run on the road?
A) Gravitational Force B) Frictional Force C) Mechanical Force D) Balance Force

WIEACTUh! ShiuTeaT SHRUTTHGS Tt TGfud g ?

A) STETER STUGTEN g6 B) warfeRufral Srider

C) AERES I ferares D) sieTaeht T

What may be the consequence of water pollution

A) Killing of aquatic animal B) Disturbance in the ecological balance
C) Disturbance in the food chain D) All of these

WTATTUh! ShIUTET SiaEET e TETesl ST Jisame STRE TRTA TEd ?

A) ‘3 STaEea B) ‘&’ STta&ca C) g S D) 3’ e
Which of the following vitamins keeps gums and joints healthy?

A) Vitamin A B) Vitamin C C) Vitamin D D) Vitamin E




63.

64.

65.

66.

67.

68.

69.

70.

A) THBET B) @AWt det C) ar D) ITUHY AT
is form of renewable energy?
A) Coal B) Petroleum C) Wind D) None of these

WRATA fEamesam Saean St fussn Tt fuek rgurm, @reiterdent Tt {Ues whiuTd ?

A) G B) ShTIH C) Sart D) g

In India crops that are grown in winter are called rabbi crops, which of the following is rabbi crop?
A) Soya beans B) Cotton C) Jawar D) Wheat

AR e RUCER I IPCREP U

A) TTeF SESFATSE B) ARIENH C) TEEH D) SR

Air is a mainly mixture of oxygen and .

A) Carbon Dioxide B) Nitrogen C) Hydrogen D) Chloroform

WRA TR g AT 0T Faliea AN T T WA TeTieh! Shiutd ?

A) TEHHOT B) UgHTaIMHUT C) ugmsht D) HReRe
Which is the highest award given by Government of India to a civilian?

A) Padma Bhushan  B) Padma Vibhushan C) Padmashree D) Bharat Ratna
WeAiet Uehl TTeTd T SHUTRT 9152 <hIUTT 2

A) T B) &ifeta C) HTste D) §ai3

Which city is odd one out?

A) London B) Berlin C) Madrid D) Mumbai

WRATAIA Tl 39 Uad HIER i ?

A) THETRT B) HT3C Usgi&e C) Agteat D) eh-?
Which is the highest mountain peak of India?
A) Kanchanganga B) Mount Everest C) Nandadevi D) K-2

SATforeR TIteruT fa @reficTdeh! shiuTeat faasht |ert hett STal ?

A) & TR B) & HTRE C)u & D) 4 I
World environment day is celebrated?
A) 5" September  B) 5™ August ) 5" July D) 5" June

Feretea ween gaeaT WIeicTicht ShivTd SHeHEe T8 8id ?
A) 3 SEa B) & Sia&c C) & Saacd D) € Sita-dca

Which vitamins emit by washing the chopped vegetables?
A) Vitamin A B) Vitamin B C) Vitamin C D) Vitamin D




71.

72.

73.

74.

75.

76.

77.

78.

WRATE AT 8T SHIUTT ?

A) Tgfera B) &g C) 3t D) |mt

Which is the national tree of India?

A) Neem B) Banyan C) Mango D) Teak

LA WRATS! TRISCH ST AT ?

A) TUTE gt B) TH.UA.SHSUTI C) g D) o1 T
Who is the External affairs minister of India?

A) Pranav Mukharji  B) S.N.Krishna C) Narendra Modi D) Sushma Swaraj
2017 = STagEd fohdTal shivft UeehTaen ?

A) 3Tt Hen B) Wt e C) Rt e D) Sa9ft HeleAt

Who was crowned miss world 2017?
A) Andrea Meza B) Manushi Chillar  C) Stephanie Hill D) Urveshi Rautela

IR SR ShIUTeT STTISTAT AT UIgerd ?

A) gaAfUE B) ST C) g D) TEH
When a person suffers from jaundice, the part of the body that is affected is
A) Kidney B) Liver C) Brain D) Lungs

T AZATA WA Tehl ShIUTeAT WebT9Mt T ferd 3TE ?

A) & 2| B) 2=t ¢\ C) sieftiea D) ST&heaiet
Sayana Nehwal is associated with which sport?
A) Lawn tennis B) Table tennis C) badminton D) Basket ball

T T faarean faash Treiierich sivmean g ot fehecaTer SaTRIgUT shel ST ?

A) TATE= B) TSyt C) T D) TRl AT

The of India hoists our national flag at the Red fort on Independence day every year?
A) Prime minister B) President C) Chief Justice D) None of these

WRATS UEATE JEY FEUH ShIVTTEAT S HIt ?

A) AT ASUAUE B) STHYIEST 21eT C) TSN TeTHATE U D) gHTNIg Ad

Which famous leader was known as the “Iron man of India”?

A) Lala Lajpatrai B) Jamshed;ji Tata C) Sardar Vallabhbhai patel D) Subhashchandr Bose
W TS Uit YR TS FEUIA HERTRE WITEATA STER Shet 3118 2
A) FETETeR B) W& C) forem NELH
village is declared by the Government of Maharashtra as the first Village of Books.
A) Mahabaleshwar  B) Bhuij C) Bhilar D) Wai

10
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79.

80.

81.

82.

83.

84.

85.

86.

fefier 2017 ned wRaTEN TYg fRATATER WieltR! S Tshiaees gew ?

A) TR B) 3T c) At D) efisT
Which one of the following cyclonic storm struck Indian sea coast in December 2017?
A) Katrina B) Ockhi C) Nargis D) Leeza

YUt AR ST ufge fomm wmwft sAfee ?

A) @9 IEa B) T ATed C) WEe Y. D) 3HIeT TS
Who built the first completely Indian made air craft?

A) Akhilesh Yadav B) Sanay Yadav C) Wright Brothers D) Amol Yadav
e gEivEd @ @en . 31 TEUTT.

A) aftae B) URHwUT C) A& D) ATHY AT
The motion of the Earth around the sun is called .

A) Rotation B) Revolution C) Axis of rotation D) None of these
godften gOHTTIEA 'Rl oW, sTaRTURIa=a 2RTET AUTeR 3T FEUTATd
A) 12 TR B) 13 fem.*it C) 16 fR D) 50 fer.

The earth surface to a height of about K.m. is called the troposphere.

A) 12 km B) 13 km C) 16 km D) 50 km

TAEY AT 3T TIR HIUATEATS! ShHIUTAT ST SATIRAT ?

A) TTeF SESNTFATSE B) TEAGN C) it D) ShIeA
gas helps plants to produce their own food.
A) Carbon Di-Oxide  B) Hydrogen C) Oxygen D) Carbon

STAWTEH Tt fie TEU FAEeh! dth WTCHcTaeh! ShiuTaT e HISTT ShiudTd aal ?

A) R ATFITER B) 3¢ SRR C) ¢ AL D) R TR
is celebrated as International peace Day by UNESCO?
A) 2 October B) 21 October C) 21 September D) 2 September

ot Y158 SHUTTHTS! WTEICTdeh! ShivTaT T Ugrel STaeard ?

A) TR B) Wi C) \TER D) gF@El
Which one of the following chemical substance is used to purify the water?

A) Chlorine B) Salt C) Sugar D) Limestone
HERTETA T el T IS IS TR ?

A) §913 IUTR B) ARTA C) Wer D) AFTR
Sanjay Gandhi National Park is located at?

A) Mumbai Suburban B) Sangali C) Bhandara D) Nagpur

11
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87.

88.

89.

90.

91.

92.

93.

94.

FTECT AT ST hIUTT SIIAT FEUTAT ?

A) = B) ¥form C) U D) JU=
Country that is called as land of rising sun

A) China B) Russia C) Thailand D) Japan
WRATATEA TATS I ShIUTd 7

A) TER B) &= C) SR D) ¥ettaTe

Pink city in India is?

A) Mysore B) Chennai C) Jaipur D) Hydrabad

WRATATE ShIUTeT TASATA AT TSI @l ?

A) TS B) Ul C) SR D) A&
In which Indian State is desert plain found?

A) Rajsthan B) Punjab C) Uttar Pradesh D) Madhya Pradesh
GUAHTANA Haid 3807 g ShHIUTaT ?

A) geat B) 35k C) i D) &

The hottest planet in our solar system is?

A) Earth B) Venus C) Mars D) Jupiter
TATSTHETA SHIUT STET ?

A) STeheR B) Wi C) IIEgH D) TT=iE
Who built the Taj mahal ?

A) Akbar B) Jahangir C) Shahjahan D) Aurangjeb

HRATEAT STETaTde Yot TgUA HIUTe FTHISTE HeTEs Hieeet S 2
A) Hitd TS B) et WIHTSA C) T | D) e |IHTSA

In Indian history the “Golden Age” referred to the period under .
A) Mourya Empire  B) Mughal Empire C) Sunga Empire D) Gupta Empire

TUTE 3eha hIUTeIT SHTE FATIT el ?

A) 3™ B) orm C) == D) SH—U—-gATEl
Emperor Akbar Founded religion.

A) Islam B) Sikhhism C) Jainism D) Din-l-ilahi

YeTRTGBTATE SR SATTOT STe] T e STAINI= SR Tgd Tt geAre Higuft yei ugerdia
SHIUTT FTEATH ST FEUTATA ?

A) GO B) sfagm C) HHSEITITER D) TRt AT
The science that studies past cultures with the help of ancient remains is called?
A) Archaeology B) History C) Anthropology D) None of these
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95.

96.

97.

98.

99.

100.

A) Tl STfeH B) e it C) o8 foreht D) ITUHY AT

The first systematic explanation of concept of evolution was given by

A) Charles Darwin B) Willard libby C) Louis leaky D) None of these
_____ T Eedien o g,

A) TR B) 7=t C) HMex D) ITUH! AT
The was an ancestor of the elelpant.

A) Monkey B) Rhino C) Mammoth D) None of these
et oAt @It <A AR HEhdten ferehtE e

A) fag B) A C) AEA D) S =-A

The ancient civilization of china developed and flourished in the valley of the

A) Indus B) Amazon C) Nile D) Huang-He

1 AT BT ATV FITATeRaT=n 90e 3.9, $ 9% HES TIRTAL.

A) T & B) TTERITH C) At D) ATdeh! AT
The inscription known as the was discovered in 1799 A.D.
A) Rosetta Stone B) Hieroglyphs C) Ptolemius D) None of these

TH TR LA LHITER AT AT ST o6 &g et ?

A) FESEH B) SRR C) HAwR D) gHae
abolished the jizya, a tax on non muslims.

A) Shahjahan B) Jahangir C) Akbar D) Harshvardhan

TR BThSICT W ShHIUTA {9t F9ifemt ?

A) SR B) 9& C) e D) ufgem

The bottom portion of a map represents the .

A) North B) East C) South D) West

SPACE FOR ROUGH WORK
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